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corr_Adet_bpm4aX (ppb) 1D pull distribution
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corr_Adet_bpm1Y (ppb) 1D pull distribution
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corr_Adet_bpm16Y (ppb) 1D pull distribution
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corr_Adet_bpm12Y (ppb) 1D pull distribution
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corr_Adet_bpm11X (ppb) 1D pull distribution
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corr_Adet_bpm11Y (ppb)
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corr_Adet_bpm8Y (ppb) 1D pull distribution
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lagr_asym_usl (ppb 1D pull distribution

2
— X2 / ndf 42.76 1 73 R
- Mean  -0.002507 + 0.08837
6000 |— po —532.6 + 240.8 24F
I~ N B StdDev  0.7602 + 0.06249
- 2
4000 — o Underflow 0
- 20
| r Overflow 0
2000 — 8 F
18- X2 ndf 2.703/5
0 ] 16 Constant 21.23 +3.38
B Mean 0.00691 + 0.08608
14~
2000 r
r Sigma 0.7163 +0.0782
B 12~ 1
4000 | s 1
6000 — sl
I L
Py 6
ar
2_
: : ol |y pa i N
O NMYOTOINMS O] i o LD OO0 TNMIINONONO -,
GG EBI= BB GRBABRRHS R O I | 4 4 2 0 2 4 6 8
©9QVWOVBOLYOLOOOD R e e e S o N S N N N N )
ODLOBOIDOLOOOLN LOLOLO LOLOLOLONLODIOLOLOLOLOLOLOLON
OMHMOMINI I mmmmmmm(\gjmmmmmmmmmmg




lagr_asym_usl RMS (ppm)

0T'9.5€
6'9.5€
8'9/5¢€
L'9.5¢€
9'9/G¢
G'9/G€
7'9.G€
€'9.5¢€
C'9L5€
T1'9.5¢€
09.5¢
0T'S.G€
6'G.GE
8'G.GE
L'SLSE
9'G/5€
§'G/G€
'SLGE
€'G.GE
¢'SLSE
T'SLS€E
0'G.5¢€
0T'v.S€
6'7.GE
8'V.GE
L'vLSE
9'V.LSE
S'v.SE
V'v.SE
€V.GE
[ ZA
Tv.SE
0'v.LSE
L'€LSE
9'€L5E
S'€LGE
V'€LGE
€'€LGE
C'E€LSE
T'€LSE
0'€L5€E
S'CLSE
v'¢LSE
€'¢.Ge
¢'¢lSE
T'¢LSE
0'C.LSE
V'T.S€
€TLGE
¢'T.SE
T'T.SE
0'T.LSE
¥'0L5€
€'0.5€
2'0.5€
T'0L5€
0'0.5¢
'695€
£'695¢€
2'695¢€
T1'695€
0'695€
¥7'89G€
£'89G6¢€
2'895€
1'895€
0895¢€
1,95
0,96
7'996¢€
£'996¢€
2'995¢€
| bl 6
L1l 1 A A A = GJEEt>
o (©)) [ce) N~ (] Lo <

9 S 3 < < < <

— — — — — — i

(wdd) sy



diff_bpm4eX (nm) 1D pull distribution
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diff_bpm4eX RMS (um)
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diff_bpm4eY (nm) 1D pull distribution
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diff_bpm4eY RMS (um)
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diff_bpm4aX (nm) 1D pull distribution
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diff_bpm4aX RMS (um)
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diff_bpm4aY (nm)
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diff_bpm4aY RMS (um)
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diff_bpm1X (nm) 1D pull distribution
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diff_bpm16Y (nm) 1D pull distribution
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diff_bpm12X (nm) 1D pull distribution
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diff_bpm12Y (nm) 1D pull distribution
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diff_bpm11X (nm) 1D pull distribution
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diff_bpm8X (nm) 1D pull distribution
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corr_usl_bpm8Y (ppb) 1D pull distribution
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